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A A
What does '"this'" in the sixth paragraph refer to? E 5 What did the writer find remarkable about
' Addlesee's magazine?
A) Cathy paying for a lot of the work !
B) the ray of hope E A) its concentration on everyday problems
C) Cathy promoting his name and talents E B) The kind of questions Addlesee is asked
D) The active role + C) its resemblance to a rock star's magazine
E) alot of work. i D) The kind of opinions Addlesee gives
i E) Itisn't like a standard publication
|
1
Which of these words is a synonym for i
"frustrations'' in the seventh paragraph? |6 What is meant by the phrase "to make ends
|
A) anger E meet'' in the second paragraph?
B) disappointment i A) to save money
C) talent . | B) to earn enough money to survive
D) unhappiness i C) to become rich
E) irritable { D) to make payments on time
E) to lead a luxurious life
|
What do we learn about Addlesee's career in the |
f’
fourth paragraph 7 What does 'here' in the second paragraph refer
to?
A) He has recently started a new career
B) He is a very competitive business A) The USA
C) He has not made much progress in it B) The club's conference
D) He does not have the talent to succeed C) Addlesee's club
E) He has gone foreward in his career D) This article
i E) The conference
|
1
One problem Addlesee describes is that '
A) People he wants to work for tell him lies 8 The Wl.‘itel‘ says that people who read Addlesee's
; i magazine
B) Companies he contacts refuse to look at his work
C) People fail to pay him for work that he has done A) find his experiences hard to believe
D) Companies he contacts go out business B) hei : to hi
E) Nomo of the above compare their own experiences to his
C) feel better about their own problems
|
I D) hope that things will improve for him
i E) unmotivate themselves
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A A
E 9 What is meant by phrase 'decent money' in the E 12 ‘Which of the following best describes the writer's
' sixth paragraph? 1 attitude to Addlesee?
i A) good earnings i A) He finds him confusing
E B) quick payments E B) He is envious of him
+ C) money easily earned t  C) He finds him ridiculous
+ D) money paid on time + D) He sympathizes with him
i E) not well paid i E) He finds him exaggerated
i i
E 10 Which of these words is a synonym for E 13 Choose the best answer.
+A) love +A) behaved very badly
E B) know E B) made a strange sound
+ C) fear + C) wasn't neat or organized
E D) hope E D) got very dirty
. E) believe ,  E) ate too much
! !
1 I
! I
E 11 ‘What does the writer say about Stephen i 14 Choose the best answer.
. R.Addlesee in the first paragraph? i I'd better ''get a move on'' means I need to
1 |
1 |
' A) Itis strange that nobody has had the same idea as !
: him before I A) start something new
1 |
1 . I B . . .
E B) it is surprising that so many people have joined i ) live in a different house
! his fan club ! C) dress
I : . i D) hurry up
: C) He is typical of everyone who wants to become ' E ) decide wh J
: famous ! ecide what to do
1 I
. D) He is likely to become more famous than some TV |
E personalities !
i 15
+ E) It is suprising that no one has joined his fan club E Choose the best answer.
! yet i If someone says: "Cool it!", he/she wants you to:
[ |
E i A) calm down
' t B) take a break
+  C) freeze something
+ D) goaway
. E) stop talking
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A

Choose the best answer.
"To veg [vedge] out'' means to:

become very confused

A)
B) become vegetarian
C) fall asleep

D) relax

E) getreally angry

Complete the following sentences with the most
suitable word.

Everybody knew Harry had a crime

but nobody wanted to tell the police

done

performed
served

A)
B)
C)
D) made
E)

committed

Complete the following sentences with the most
suitable word.

The accident investigators are looking

A

19 Complete the following sentences with the most

20

suitable word.

Alex went for a long walk he was

feeling very tired

therefore
because

although

A)
B)
C) however
D)
E) despite

Complete the following sentences with the most
suitable word.

the lights went out, I was having a
maths test

During
Once

As soon as
While

A)
B)
C)
D)
E) When

the cause of the crash very thoroughly i 21 Complete the following sentences with the most
: suitable word.
A) in | e
B) +  I've never that strange building
for . before, have you?
C) out :
D) into !
E) after i A) realised
i B) remarked
! C) registered
i D) noticed
v E) recognised
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A

Choose the word or phrase that is the nearest in
meaning to the following.

Accumulate

add up
grow
lose

A)
B)
C)
D) drop
E)

win

Choose the word or phrase that is the nearest in
meaning to the following.

Convenient

capable

suitable
difficult

A)
B)
C)
D) pleasant
E)

correct

Choose the word or phrase that is the nearest in
meaning to the following.

Deceptive

misleading
truthful
decisive

A)
B)
C)
D) unimportant
E)

ironic

25

26

27

A

Choose the word or phrase that is the nearest in
meaning to the following.

Rectify

criticize
change

correct
break

A)
B)
C)
D)
E) build

Choose the word or phrase that is the nearest in
meaning to the following.

Get over

pass

leave

recover

mo o © >

)
)
) escape
)
)

discover

Choose the correct words to complete the
sentences.

You really me before today that you

cancelling the trip.

could have told/intended

can tell/intend
could tell/had intended

A)
B)
C)
D) should tell/were
E)

will be able to/have intended
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A A
28 (Choose the correct words to complete the E 31 Choose the correct words to complete the
sentences. ' sentences.
The meeting for almost half an hour E 'Shall I stay here?' 'I'd rather with
when I , S0 I missed the discussion on ! us.'
the agenda. E
A) had been going on/had arrived . A) you came
B) had been going on/arrived . B) you would come
C) went on/had arrived + C) youto come
D) was going on/arrived + D) you come
E) will have been going on/have arrived + E) you had come
i
29 Choose the correct words to complete the 132 Choose the correct words to complete the
sentences. ' sentences.
We're late. The film by the time we : today he would get there by Saturday.
get to the cinema :
. A) Was he leaving
A) is going to start i B) If he had left
B) will already start . C) If he leaves
C) is started ' D) Would he have left
D) will be already started +  E) Were he to leave
E) will have already started i
I
|
133 Choose the correct words to complete the
30 Choose the correct words to complete the i sentences.
sentences. i Jane a new car
Because we 1?0isily at the time, nobody i A) suggested that I buy
the baby crying. :
! B) suggested to buy me
A) were chatting/could hear i C) suggested to buy
B) had been chatting/didn't hear i D) suggested that I should buy
C) chatted/was hearing i E) suggested me to buy
D) chatted/couldn't hear i
E) have chatted/can hear i
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37 Who was the author of the famous storybook
'Alice's Adventures in Wonderland'?

34 Choose the correct words to complete the
sentences.

she can't drive, she has bought a car. John Keats

Even though Rudyard Kipling

A)

B)
Even C) H. G. Wells
D) Lewis Carroll
E)

J. K Rowling

A)

B)

C) Even when
D) Even if

E) Even as

38 How many lines does a sonnet have?
35 Choose the correct words to complete the

sentences. i
i ) o A) 10
A friend of mine phoned me to a party B) 12
i C)8
A) for inviting i D) 14
B) invite i E) they vary
C) to invite
D) for invite |
E) for to invite 1 39 In the book 'The Lord of the Rings', who or what
is Bilbo?
36 Had I known it, I to London on )
A) wizard
Saturday
B) hobbit
C) troll
should not go D) dwarf
would not gone E) castle

A)
B)
C) would have not gone
D) had not gone

E)

would not have gone
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40 Who wrote 'Where ignorance is bliss, it is folly to 43 A native speaker from New York and one from

be wise'? E London meet up. What will be the same?
i A) accent

A) Austen E B) dialect

B) Marx + C) language

C) Shakespeare + D) intonation

D) Browning i E) stress

E) Kipling

44 Some teachers use a piece of paper or a light piece
41 What is the book 'Lord of the Flies' about? of cloth in front of students' mouths in their
teaching of what phonetic phenomenon?

aroad trip around the USA

nasal soun
a dangerous dragon asal sounds

close vowels

A)
B)
C) schoolboys on a desert island
D)
E) plosive sounds

A)
B)
a swarm of killer flies C) affricates
D)
E)

a powerful king
schwa

42 Giovanni from Italy has problems with consonant
clusters. Which word in the following sentence
may cause him a problem. ''Spring came very
quick that year and Philip said goodbye to his wife

45 What type of reading is a person most likely to use
when looking up a phone number in the directory?

and headed north." A) extensive

A) headed ) .inferr.i ne

B) C) 1nt.en51.ve
goodbye D) skimming

C) very E) scanning

D) spring

E) north
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46 The English word "rest' and the Italian word 50 Which is correct?
"restare'' do not mean the same thing. What is this

an example of? A

sacrilegious
sacriligious
vocabularic diversity

lexical digression sacreligious

mo O @

)
)
) sacrelegious
)
)

sacrelligious

A)

B)

C) an antonym
D) false friends
E)

word traps
TEST BITTi
CEVAPLARINIZI KONTROL EDINiz

47 Which is correct?
mischeivous

mischievious

A)
B)
C) mischeivious
D) mischievous
E)

mischevious

48 Which is correct

A) sattelite
B) sattellite
C) satelite
D) satellit
E) satellite

49 Which is correct?

superceed

supercede

A)

B)

C) supersede
D) superseed
E)

superseede
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